Find J'sec2 Vx dx by first making a substitution, then using integration by parts. SCORE: __ /6 POINTS
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Find J' sec’ xtan® x dx. SCORE: /5 POINTS
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Find j'e’l" sin 4x dx. SCORE: __ /5 POINTS

A AN Se, sw\‘%xc?x ’—ie'?"‘sm‘i’xr_ e’ZXCOS 423 (
pine S g -—4[«@, s dx |

5§€’?”‘3M4»<&>(’ ~feMsndx- eeas WX,
f e Pomdxdx = —15= Sm‘ﬂrx~4’€fl"c/b&4”<+ci

(K

\ =



Find _[e‘zx sin4x dx. SCORE: __/5POINTS

-2 ,.
'j\f; _g\_\j__ fe sméfx o‘X* B 'L ycos‘hx “ s.‘y\4x’ l
. \-!- 51%4“ J. =
D :{F il J e’ S\h‘}‘% dx ;

2% 2\
4™ ,bsm‘fx S& SML'XAX"' ’Le 03347< Se S‘\”AJX
?w-

J\e SihLTLXC’X' 'J*G,ZXCDSL}X"' )Q‘e Sm4x+~C

\ '?.—






